Y
srsea. XY= (6 iy R —
Pz 2x+ 2Y —=  (ob)
axy 2[(Le) — [\Ez;uw?—&J s,
> X
32 AX"= 32 2(}(2_'_[6)
- T - =~ O
X+ X A X 2
—r X’ 6= 0 = X=4d
'- 4
=4 .
) =Y on .
Y4 T 4 N - IQ/\"V['L

~

o (
. A
XZ2 .
= am.
Aro—xX Az 4 n R
[ N 12-x 2




{
= 24— 6x™ ¢ e(4-x%)z ¢(2-x)(atx/= o
— X= 2 o X=~a (No)
o —
-+ : Al
Xz a
Y13 A b § oo,
s Az 3R
‘5”
5] "i.;x ISTZX ":‘_;(__ MW jrelonnre
3" ‘_*:7’1* X V= Qs’-;zz<)@’~a><)2< »Qs
(K K‘ CM—{, W/

2)(F-ax)(<) + (15-2x)(-2 J(x) + (15-2x (72 ) (1)
-ic X+4x3 )+ L0 x +4XT)+(4x% 46X +1R0)
[2X 2~ 92 X+ (20 = 4(3x* 23x+30) =0 —

R H

1]

Xz R3+—‘/5Rc‘ 3o = '23:(:‘3:60’2 —-S:-—s
) © e 3
X = 5/3 + o — vl
“ 35" mx s ”5"
s I, ame 35 ' 2 e
3 ER /I)K 3
Ao V 2:75'0 3 o Go.74 in 3
Y = Foo — X ;

/\«MW asrea A XY = X(?OO RX/—-’

{14 yooXx — 2x*% —'IZ» A:S’oo-—L(X:o-—»




XZ 200 m + O —_ A1

I
X< Q66 .,
Nz Hdo6 o

ey AT §0,000 gy
7)4) , Y e x2Y = 56o /()(— .
_-1z . bSoo
X : [: x& ) ;

S= XA+ 4XY = X2+ ux. {:ﬁ
D
5= xR+ 2220 2, gt gyl aoee
3 —
- XX ;fv&bc - ZCXXQ'/Oé") 20 —m Xo IOH’.
— o + S
x:; lo 4%,
Y= § 4X.
M. S = 360/‘){","'
((,) -”}‘(" _“_‘ MM XN = 56 in>
n' X “
2 /// /’ L\{_ 5o | .
M+
/// ;
"‘3,:,”{, - A-LK’F‘{)({Y.‘.S}
— X4 —— = (X+4) (57;94_6’)

— D
= S5o+ ?’—;39—4-6’X+ TR —*L/i‘:z?)%"‘q_?x-t-?gj —_—




X=F ~sn .

. A 16R n >

-13/11‘ CI-— Y"‘j(\H—B/: 3‘-11'("(\{4—27—\(3« 3Y1) —
D
= Loe(aY+a7-Y3= 3\(&]1 =
=t (1= 3v>-c¢Y): L (-3)(21a¥-3)
= = (Y=)(Y¥+2) = 6 — Y=/ ez Yz-2 (Lo
~- (o) — (
: ; — -V
conn. dvna sy - N =
\r\':‘l/ w=Vg X=Vy

oz, V= TEF) () 2 R
7

<’ <’ i

N—OQW“Q« wwih = 106 e’ —
jooo . .
T v 2 ST




S= Tr2+ameh = weiy .
S:'}T’V\Q\-" 2000

fooo
____2_:-__5
A
gD\ | -V;Oco
~ S
A
- AT0i-goco . 2 (mv3-1c00) _
o i VANEN - a
'T\-’V‘B 10000 T N l/.? |
- T 0 —> V‘?—(’tﬁ:”'j 2 6.83 S
4 ~ S
1
— 100 L -
. V‘-qu).gM.
L\ lece o

ALYl

- (i)
) _
T

M S = —rr(l veob ;5/3 20060

lo°02/3 2, 'H'/I
T 73

o g

I\G’?,‘S .

R
= looo%/.'s’ ((4-;\.n_/3]~
T 3 o

439. 4 L 2
(ﬁ,]

ha
WZ+CI) = jo%
. h V"‘._ oo (A’\z——-s
16,41 [ - e
S . 4 17
= W M
' 2
V= wedh - ’lT’<1Oo‘ —E\T—//l —

LV: (100 h — )

___._5

D | ’
? :’ﬂ"!oo\_:i )9:
v < qh o

Ioozgh&—» (49\: %o-——aﬁ*—lo



o~ 20
Ao \VA=Ruw lo@ <73:)
= "3"‘%"1\“ 2 2417 em 3
o?o') ) ' N+ 4X = Ry g
“""“—e———" N= 0% — vy .
MM"%M Vz X;‘Y:x"@ox-qx)—a
| D

] v {
(V=109 x* - 4x3[ = Vv = alex—1ax>

= \ax(iﬂ-x)—-, X= [ o0 K=o CNo)
+ 2 — (
+ - V
Xz (§F M .
Y= 36 in.
o, V= H/G(e“{ a3

4.) h=cego f*frq,‘_..-_i.-__-g':‘i-
w = 4%9) ;h '“::6 L
Fhan M H ‘

a/é W*@ L




= 26 CM@ ced O C‘A"LQ) _2_?
{

\'

"

26 [ 4Mn8-TaNE + oS- codD + - b o)
20 ( cod?6 — PO - s 8) $ o

iy

‘—XOCQMQ‘Q‘FMG—‘):Q —

~ X0 Q&Me - | )CMG-FI):_G
—7 om0 = -

- T
2\—-?6~6 oz




Vﬁ X* — 8.5 —X
\/L’*—xl' X
L*— X2 X
X BS-x _ b _ 85X 1
X X VA - x* VLA— X2 VI2-x>
X {2 - X2
7.5 x?%
5 (% x% -
s 2X— 8.5
| . 85 x*
—> L"z: __75:1
A + AX=8. 5‘
2X ~%. J

L&:' Ax3; L
AX=§. S

L x—gs)(exd)~ 2x’ (2)
S (ax-§ 5)>




12x3 - Six*~ 4x3

p——

I\

(2x~8.5)%
- gxi-six* _ x*(8x=51) _ .
(2x— 8.5)% (Rx~8.5)%
T ,
4,’" P - ° [//f_, L
Xzo x=4.25" x-= 5 X=8.5
= 6.375 "
srnd ain, L= X3 ~ .oy !
AK-8.§
:
Xé.) a.) y x
- Nz 2
. — — =t
e, aX + 2X = 36 o

— X+Y =2 \1§F — X=Ig-Y . then

Vz=mvr*th = Teix = —ilﬁ—:‘()lcls—-“()

- L 2 3
.;,\/_Lm(rs”{-—\(]
1 | 2
- 1 _(3ey—-3Y") =L 3vy(ra~-Y)<
Loy qTrC N ) == 3v(a-Y)=e
+ o — (
- — \4

Nz 12 em.

26



0] 4

Jirene X+ 2 = 36 — X+X =18
——?X“XY]- Ao . /.,—-o/w

V=1mvr* = \ Q'X = Tr\{g‘(lK—Y)

— V= 'rr((?Y Y 3)

D, yis o (36y - 3Y%)= 3Ty (ia-v)= o

O — 1

+ ; v

Y~12 aw | N

Xz oem, ol max . = J64TT o/w&3




/wv;-'i/l‘ L: 'J(X~o)‘z+ (\-{-o?&‘ - "\’X’z—l-"{&-‘ —_—

L, = \/x’u— (b-bx)* D

G o).~k 7 -
L‘/_az("”") .[./%x-i—-g’(b-a_x].a,]__o
—'b7\ b& - s ' ' }02. _ bz.
X-f—-aa—;-—;?-x.‘.o XCH-ZZ)_;_
(ot br) o b
—> X (qlﬁuar = Z
X
4%+ b2 L& b2 a
—> X q’* Z 7: — x\/« q2‘+!o7*
a
—r Xz ab
A%+ g*
Z - ¢ + P
Xzo X al? Xz a
a*+h*
a% b

L= \/C%%&)“ ZENE
e i N e,
= (a2 + pa) 2 _)/ (a? 4 p>)X
alb

VaZip>

—



21.) JeA Xx>o o a 4

J
_ 1 L B T
S"x-!-x — S"( x,l X‘L‘
- 1
:CX’7C§+7-O—> Xl &1 X2/
X
—_— o +‘ {
— } S
X=1 |
mem5:1.r__f-:,;§
33) By acmifen Als T
4 4-h |
3 - w n
qw:19\~3h —
w T 3*-3@\

AKX aNRRA_

A =

- il/\ C o > 343 > he 2
2 2 |
+ o —

5 h= a2
wz Fmax A= 3

Al

35) )= x*+ f{ i
| LS 1 A .
Fx)= 2X~ 35 = F Kz 2+ K”; 5




36) Hx)= xT+ax®ebx Lo
2= 3x2 4+ 24X + U D,
1) = eX+ 2a
4-] oy, oA Xz=-1 —= -i‘—lef):o —

3-2a4+b=0 — m 5

s, “)("X:3—? *-P"C3]:O———>

P:M ke QT+ 6a+ (Ra-3)=o0
)
= faz -z4 = @=-3) G="1

b-) . ot X2y — L' H)=0 —
4g+8a+b=0 — b:.—.—-Bq—qg] N

Mvﬁe(ﬂl’ o Xz| —> -QHCI/:O —
b+ 2020 — / G =-29




1 ’
i
| Vd
! 4 Mi D:KT’
O?m‘f ,//m — T:—P——
Y,
L’
7‘:«.,\4/\& T = 7—::,‘..— + T —_
- D
T - -\lx"-t—q " é_;?i. —_—
g

25 x* = 4(x+4) = dxPe e —

20x* = e — x2 =1 Xt =x0873 .




o L groen /(;7
L, ==-‘\/(><+z7]°"+ 5
\/CX+7\7]& 81(’“‘37]"7\ —-“D—-> .

‘s -M] E(Cm_z?)

xz
128 (X+27) — 6‘((><+,?7) ,z/x J
-0

£+
x‘f
— ()(4.;\ . 12
7)[(+ B XK ~ (29K~ ~ ITAFX ]
— xq =0
(4 (TRY _ o 3
X3 - —= X" = 1TRE
r — X= .
’ : - | 112\
x:_t:z\fh L.(

Y= &6 , v
;) aen L=yRATIT 2= 46.9 4%



SQ)MxﬁyéMLM)e’E So ;
= (Reo~- ax)(fo+ X ) :
Ot = éooo <+ 31650+X]
] 2
P:_ Koermr — Coadt—
-+ = (aso— RK7C5'0+><7 ~ Gooo — 32 (5o+ x) L,

1
0 Pz (reo— 2x) (1) + 2)(Fo+x) - 3 &
RO6 ~ AX — 106 — QX ~ T R

= 68— 44X =06 —> Xz 17 peogpte
P{

+ O .

A= L& _ x 3- 20 X* 4+ 20/000X
X X
= XA~ 20X L 20, 000 i}

i
Al ZX—~20 =0 — X=1lo0

Xz10 oy
min. Az 19900 (#F3?)




i )
[}
Y e e~ |-
”
-

;) e 7‘

X Y= n &
wmen, . coot C=Cp+ C iy,
= 6 (x*) + 4(4xY) = ex%%x‘&:‘fk) —
C= 6x* + 168 D
= ~ |
768 Bx3~ 768 _ IR (x*e4) -5

C}: (aX —

—72 )(’L x;L
— XY — o -+ | | clv
X=4 /H’-)Y:S/[X‘.

58. Rerverre < CW,GMW%Q@(; aj/oc—m«—a :
),u*x::&:rgiﬁlo 4"5)%—»& ))

K= (50+ IOX)CSOO——— 4oX ) ._P_?

R(:: (S’O-HOX)GLIO] +((o)6300~ 40X )
= —~Q000 - 400X + FOOO — Ho0X
= @000 -~ P00 X = O —=

-~ @000 _ !
X<z Yoo - 7.5 o T™'s
R o —_—
— 4_ ! R/
Xz 7.5 —

5(25’/;bo-u—m} oo /-—o-—o—rv‘-d/
mox. Rz $6,2)5’oo



Ju?/vc-r\ «D(’ X, ool {-—(CC«)MM |
sl “ CC’) Fe)- j(cf] o —

#@7 =7 CC’) W

766/61’(74, M}( , o Store

-

o 66}\) Yz Aex + 3 et X , 0<X<
:.)L, j‘:: dacR X + 3- 2eee?X = o
—s  wecX = 3 e

l 2. ., X

-—% —_ .
coo™ X ontx Cod? X

=3

o

— 7&0‘4’\&)(:3 ﬁM}(::&(—’

X IE
A




o 33:)3; = —

= 4\/(_ ——-3;:)& +(H{x)? = Vg(,xe%)‘z4—7( R

2, L‘:i—w-k“.[;&~§_]+1]=o
— 2X—3+1=0 — 2X= 2 — X=|

= \/%-MH L (e-%2)= 2TI=RE + 3
- D
= 1/30-;<><-11/§‘- e=X* —7

) .; Y
‘e L) Hma- AT ;‘z (6-x¥) T(ax) | =0







